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A 14,380, 155 8,690,376 5,689,779
= 6,639,253
Jl 140,277
& 1,192,476
= 6,408, 149
SEABMIIBE 2= 12,390,666 6,380,568 6,010,098
= 5,945,559
o 979,568
= 5,465,539
SEEX L A AS 5,615,666 6,380,568 AT764,902
= 2,917,559
o= 979,568
= 1,718,539
SHMWALAELZ 21 58,857 59,308 AN 451
101 e1214| 19,181 11,822 7,359
04 JI2tHI22NEES 19,181 11,822 7,359
OSIANAES 22D AL o8 19,181
-= 72,0008 * 1 x 240 17,280
-AMSIEE J|a8e=2 17,280,000& = 11% 1,901
201 Yete | 39,676 47,486 A7,810
01 AP 22| H| 17,176 18,386 A 1,210
OSIAMNNELZ2 A2 DXMN HZ
90,0008 = 28+A 180
Ot EEZ2 222 HE 1,320
-3 =8t 60,000& * 110H = 23] 1,320
OSAMAESLZS DKM 1M
110& * 27,0004 = 43| 11,880
OSAMNAEESZ2 IIAAHE} 2
80& * 10,0002 * 43| 3,200
OelHu XIzx=42 502 * 1,0004 = 43| 200
OXNS0IM AEsSd =5
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02 2=2=24%4| 22,500 29,100 A6,600
QB3N Ee=2 DN fEes2 22,500
-A=EXAM 1,900& = 3004 570
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i bt 330 * 15,0004 = 43| 19,800
=i 2,130& * 50021 * 23| 2,130
MNoEsS &8s 9,180 26,050 N 16,870
202 04 d| 7,680 13,100 N5,420
01 2Ll 7,680 13,100 N5,420
OstZEA HIRF=X (Y|
160,0008 » 4% x 12& 7,680
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2M: 83
Ha: BYSE|G E
Sl BASH U HAAY SREED
= - — SHE|
SN HH-S(BN) - MBAY - B e 2
01 Z& 3 1,700 0 1,700
OSMUE R 2= M Al 1,700
-E e 500,000& = 1JH A 500
-2 = 300,000 20 A& 600
- o 200,000& * 3JH 4 600
M=sAHU ESAHY 34,970 32,522 2,448
= 24,978
< 4,996
s 4,996
402 RI2FXt20| ™ 34,970 32,522 2,448
= 24,978
< 4,996
[ia 4,996
02 QI 2 A EZ(OI XM THE) 34,970 32,522 2,448
OO0/ tisd HAMG(M=s20U 23
Ared) 34,970,000 34,970
= 24,978
< 4,996
s 4,996
EEAEQIEN Dot QHEE K= 30,900 28,000 2,900
= 15,450
s 15,450
301 LEAF 30,900 28,000 2,900
= 15,450
s 15,450
12 J|EtE4 = 30,900 28,000 2,900
OEAZQER CldE S 30,000, 000& 30,000
= 15,000
e 15,000
OXSx BHAZOIH ClHEE 900,000& 900
2 450
i 450
Ao 2 MCHH 15,000 9,000 6,000
< 3,000
[ia 12,000
301 LENZ 15,000 9,000 6,000
< 3,000
s 12,000
01 MEIBEE 53 15,000 9,000 6,000
O4AdIo 2/ =203 15,000, 000& 15,000
< 3,000
s 12,000
HATS2ASEE 24tA JMeHALZE K& 8,000 8,000 0
= 4,000
s 4,000
307 glz2tol & 8,000 8,000 0




2M: 33
Ha: BYSE|G E
Chelr BEBA L ONAAY (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 4,000
= 4,000
02 QIZ2IA AAIE E X 8,000 8,000 0
OHIAMTESAIE 2AIIA NNCHALE I3
8,000,000 8,000
= 4,000
= 4,000
MEIZRATLHAIS (M &) 791,656 840,000 N48,344
& 364,000
= 427 ,656
401 AlEHI 2L £ 0HY| 791,656 840,000 N 48,344
& 364,000
= 427 ,656
01 Al&H| 790,000 840,000 A 50,000
O 2X MDY EAAY(RHIZIE)
790,000,000 790,000
& 364,000
= 426,000
03 AlE 21| 1,656 0 1,656
OLE H2=X MEHZ2ZS ZHAS (XA
230,000,000 = 0.72% 1,656
NAHSHE ALY 58,200 8,200 50,000
207 A S0 2| 50,000 0 50,000
01 | 50,000 0 50,000
OtHABNHE 28 249 50,000,000 50,000
301 dEtE M= 1,300 1,300 0
12 JIEtE A= 1,300 1,300 0
OstZEE2N RBA L Al AlY 1,300
-Ji el 100,000 * 10¥ 1,000
-CHA 100,000& * 3 300
303 A2 500 500 0]
01 a2 500 500 0
O&tEEN RBZE2L23 AlY 50,000& * 10Y¥ 500
307 2iz2to| A 6,400 6,400 0
02 QIZ2FAAAIE E X 6,400 6,400 0
OXNABAS M ALY 6,400,000& 6,400
OISR 20 K& 512,650 433,000 79,650
= 256,325
& 128,000
= 128,325
402 SI2v 20| ™ 512,650 433,000 79,650
= 256,325
= 128,000
o 128,325




SN B
Hu: #FEEI|N 1S
Chelr BEBA L ONAAY (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 QI EASEZ (OIS ) 512,000 433,000 79,000
O&EIIXES X 20 XI& 512,000,000& 512,000
= 256,000
< 128,000
[ia 128,000
03 212t & AFH HI 650 0 650
OdIIXtS X e 323 XA
650,000 650
=2 325
[ia 325
2HLEF[A WEIHA HZAML(ZINH XX ) 3,000 1,200 1,800
201 et 3,000 1,200 1,800
01 At 22l 3,000 1,200 1,800
OXJIHX XNES MHHR =3 X3
3,000& = 1,000CH 3,000
PHZRA WEIHLA HZML(ZINHXX)(EX) 514,560 482,400 32,160
= 308,736
< 102,912
e 102,912
301 LA S 514,560 482,400 32,160
= 308,736
< 102,912
i 102,912
12 JEE4 3 514,560 482,400 32,160
ORHYZRX HEIA M2AS (RIIHIXXE)
514,560,000& 514,560
= 308,736
< 102,912
s 102,912
HII0IEX ESAY 29,900 37,500 AT,600
= 14,950
e 14,950
402 RIZFR201 A 29,900 37,500 AT,600
= 14,950
e 14,950
02 LA TEALEZ(0IETHR) 29,900 37,500 A7,600
O&II0IEX FOHKA 29,900,000& 29,900
= 14,950
s 14,950
AR SIS M2 AL (DPFREE X)) 144,140 14,816 129,324
= 72,070
< 36,035
[ia 36,035
301 LA F 144,140 14,816 129,324
= 72,070
< 36,035
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 36,035
12 JE24 =3 144,140 14,816 129,324
OR#LARA HEIA M2 (OPFEEXIH)
69, 140,000& 69,140
= 34,570
< 17,285
i 17,285
ORI BHEIA M2 (PM-Nox SAIM2H&
X 2&I3A) 75,000,000& 75,000
= 37,500
< 18,750
e 18,750
S X LPGR S XR-BX 150,000 100,000 50,000
= 75,000
< 37,500
e 37,500
301 LPEXZ 150,000 100,000 50,000
= 75,000
< 37,500
s 37,500
12 JIE2 43 150,000 100,000 50,000
Os&sx& LPGRH M X3
5,000,000& = 30CH 150,000
= 75,000
< 37,500
e 37,500
OASX @E=EH AL § &X 8,400 250,000 A 241,600
201 Let24E] 8,400 0 8,400
02 =224l 8,400 0 8,400
oz (AHLAEY) 2 I3
500,000& = 12& 6,000
oJlegdam(AHAddg) Stz
200,000& = 12& 2,400
=2 NS 20HAE 2,990,000 975,000 2,015,000
= 2,070,000
< 276,000
s 644,000
402 2I2H X201 M 2,990,000 975,000 2,015,000
= 2,070,000
< 276,000
[ia 644,000
02 QI EAS EZ (01X TS ) 2,990,000 975,000 2,015,000
O2A XX 20X 2,990,000, 000& 2,990,000
= 2,070,000
< 276,000
s 644,000
AXH HIIEs32 |RAE=> 34,800 0 34,800
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X ZH -
L= B
el

o
CEH O (BH) - MEAY - B2 %Eﬁ HDS2
A BEFEN L A ALY 6,775,000 6,775,000

=2 3,028,000
= 3,747,000
SHH=SX2IAlIE 2,450,000 2,450,000
207 Ao Y| 32,000 32,000
oA ]l 32,000 32,000
OIgdagdeHXl s3H+XH2AE HESEHE
=8 249 16,000,000& 16,000
OSSN SSH==X2AIE HEREHE
=8 29 16,000,000& 16,000
307 QI2t0| ™ 339,000 339,000
05 QI2tRE = 339,000 339,000
OZ2Z2HAHelAlE =2TNS A 22H (2,
A WE A, HZE, o0l )
56,500,000& * 644 339,000
401 Al HI YL 2 0HHI ,079,000 2,079,000
01 A& HI ,079,000 2,079,000
OZ22HxXAIE 2T RMEX (2,3
= Ws A HE,GH0IE) 594,000
99,000,000& = 6CH
O33H=HXelAE =&ETMS =8 X2+l
35,000,000& 35,000
O33Ha+HelAd =82 X E=H|
20,000,000& 20,000
OWSAMIHX S3H=H2AE LFHINLAS
650,000,000& 650,000
OUSAAHUI 22HSXIAE AIEE 4 (0F
AEAX) 150,000, 000& 150,000
OUAMAHT S2BHEHEIAE AIEE4 (M
EEEX) 60,000,000 60,000
OUAMIHI S3H=TX2AAE OlAE2 ZFH
70,000,000& 70,000
OUSAMEHX S3H=TH2IAE HS ALY
500,000, 000& 500,000
AASX S HEBAIE XA 2,897,000 2,897,000
2 2,028,000
= 869,000
403 ItXISHXM S K201 2,897,000 2,897,000
= 2,028,000
= 869,000
02 BI2SH St 2HE 2 EAFE HI ,897,000 2,897,000
OHSAMIHI SSMHBAIE XA
2,897,000,000& 2,897,000
= 2,028,000
= 869,000
SLOIEIMAEHX] S HBAIE EXAMS 714,000 714,000
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Ha: BYSE|G E
el MBI BASH U HEAY CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 500,000
= 214,000
401 AlEHIZL £ 0HY| 714,000 0 714,000
= 500,000
= 214,000
01 Al&H| 714,000 0 714,000
OOl AMAT] 2EMBAIE XA
714,000,000 714,000
= 500,000
= 214,000
RAGAMACT] Z2Z2HE=HEAIE 28 H AlDd XA 714,000 0 714,000
= 500,000
= 214,000
401 Al HIZL 2 0HY| 714,000 0 714,000
= 500,000
= 214,000
01 Al&H| 714,000 0 714,000
OJTMAT ESHE=XAIE 2&H EX2
At 714,000,000 714,000
= 500,000
= 214,000
Ot SAIZE MEIH B3 366,860 334,871 31,989
= 18,694
= 41,908
= 306,258
OfsAlZ BES 366,860 334,871 31,989
= 18,694
== 41,908
= 306,258
OS2 RXEs & Ba 20,660 20,660 0
201 gBt24Ay| 2,900 2,900 0
01 AFR 2t 2| H| 2,900 2,900 0
O0MMM=EEYSs E8BS 2,000
-S89 M 50,000& = 200H 1,000
-E2=2 M 1,000, 0008 1,000
OOt MES A2t THE=dI 300,000& * 33 900
202 044l 2,160 2,160 0
01 2L Y| 2,160 2,160 0]
OOfMME HRFX | 2,160,000 2,160
301 et A= 15,600 15,600 0
09 HAIAHI X & 2 600 600 0
OYRTHE U AT £IBA 220l 2HA
| 3,000& * 200 600
12 JIEtE2 A= 15,000 15,000 0
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2AM: 2F
N OdSAE dHAH B
ool OFdSAE 25

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 92,000
12 JIEtE2 A= 110,000 100,000 10,000
OO0MESZ20 2ot Oolea= 110,000,000 110,000
= 18,000
= 92,000
OfMS= Oloieg e A 125,000 95,000 30,000
=} 13,500
= 111,500
301 dEtE M= 125,000 95,000 30,000
=} 13,500
= 111,500
12 J|EtE A3 125,000 95,000 30,000
OOtMES=E HoHEXt X3 125,000,000 125,000
& 13,500
= 111,500
OfEsS=E2 25 L 28 2AH FUAHE AIY 6,700 6,700 0
307 2Iz2t0| & 6,700 6,700 0
02 DIZHEAAIE E X 6,700 6,700 0
O0MMsEE B L 2y 2o FUHZAMY
6,700,000 6,700
S I | 15,200 14,200 1,000
IS AlA 22 15,200 14,200 1,000
HHEAIE DBt = 15,200 14,200 1,000
201 et | 4,000 3,000 1,000
01 AP 22| H| 4,000 3,000 1,000
OHIEALE 23 E22 M (HH HEAMNES &
2) 500,000 = 4= 2,000
OHHEAAE SIS J=2E 22|
1,000,000 = 23] 2,000
202 044 11,200 11,200 0
01 2L HI 11,200 11,200 0
O A& 2e] d2F=& | 11,200,000& 11,200
Holeg 22l 252,590 42,590 210,000
= 105,000
= 147,590
ol 88 252,590 42,590 210,000
= 105,000
= 147,590
5AHLY X& o= 42,590 42,590 0
201 et d| 14,050 14,050 0
01 AP 2t 2] H| 11,950 11,950 0
OSEIAEZE SHHH T HA
150,000 = 504 750




SN 2B
M oy 22
Sl ey 2 CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O2Z = A Or24ESs & SZ2EALD =4
=l 2,000,000& 2,000
OXEHs SR II=H| 100,000& * 69 600
OEYQATAA =8 248
800,000& * 23 1,600
OBZY BEY L 222 AN
500,000 * 2& = 23] 2,000
OEEZHA Y ===2 200,000&  25¢ 5,000
02 =224l 2,100 2,100 0
Ogdy =3 &4l SXAd  100,000& * 504 500
O HICIEa Sl 1,000,000 1,000
ORHlY MY SM3
50,000& = 104 ~ 123 600
202 04l 15,000 15,000 0
01 = LH 4 Hi 15,000 15,000 0
OFXNE 2= Kbl 15,000, 000& 15,000
206 M= Hl 7,540 7,540 0
01 M= 4l 7,540 7,540 0
OAMNZZAL THHAY 7 2,080
-PES I (4L, HI =) 110,000& * 42 A 440
-PEE DI (2L, 8t & =) 100,000& * 3&8tA 300
-BERYE (L, H = 90,0003 » 10 A 900
-ZMSeE(ILEY 100,000& * 29+ A 200
-2 (100ML, 2 &) 240,000 » 1A 240
OgZgd=2 =3 FH Me 7 2,400
-0 ¥ AS=E MEHl 200,0008 * 38 600
“AFHANZ THF N 300,000& » 6¥+A 1,800
O HA 2H0ISHEZ 1,060
-=E A T A AHCOD) pack test
110,000 * 6t A 660
—PHIH Ol IH 20,000& = 2004 400
OYHAEY A28 ¢ 2,000,000& 2,000
301 LA F 3,000 3,000 0
12JIEB243 3,000 3,000 0
OZdg Ak B4 30,000& = 1009 3,000
401 Al HI K 2018 3,000 3,000 0
03 Al 2 THHI 3,000 3,000 0
O+=Z2AL] LHES FHYXHS
1,000,000& =* 32l 3,000
OIMSX SHUCH HE oY 2A X ALY 210,000 0 210,000
= 105,000
[ia 105,000




2M: 33
M oleg 22|
e o 2 (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
101 2124 4| 160,000 0 160,000
= 80,000
= 80,000
04 JIZtHI22XNSE S 160,000 0 160,000
OD0IMIHX SEUCH BH= ol 2HAI S ol A | 160,000
-0 66,800& * 8H x 130 69,472
= 34,736
= 34,736
-S=252xg 66,800 * 8% x 25 13,360
= 6,680
iy 6,680
-1 S| 10,000& = 8 * 130 10,400
= 5,200
= 5,200
~HHZAH| 130,000 » 8% * 6& 6,240
= 3,120
= 3,120
-= &l 5,000& * 8% * 130¥ 5,200
= 2,600
= 2,600
-AEES 200,000& *~ 8% « 6& 9,600
= 4,800
= 4,800
-1 =l 400,000 * 8Y 3,200
= 1,600
= 1,600
-1 = | 400,0008 * 8%H 3,200
= 1,600
= 1,600
- EZIHH| 800,000& = 8Y 6,400
= 3,200
= 3,200
-2 XH ¥ S|4l 1,372,000 * 401 *~ 6 32,928
= 16,464
- 16,464
405 Ko SHI 50,000 0 50,000
= 25,000
= 25,000
01 JHAE =2 Z F S H 50,000 0 50,000
OO0IMHX 200/ & &Hl 12,500,000 * 404 50,000
= 25,000
= 25,000
HY &2 1,319,409 708,372 611,037
= 570,000
J| 140,277
o= 171,000
= 438,132
2 22l € & BF 1,319,409 708,372 611,037
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(o
SA BB (SH) - NRAY - B Ol At o %E& HRE2
= 570,000
J| 140,277
& 171,000
= 438,132
QEEsAUAZ (2L ) 140,277 86,800 53,477
J| 140,277
207 A 30 | 140,277 86,800 53,477
J| 140,277
01 g EAH| 140,277 86,800 53,477
Odgsgtae olgEII2d (22 4H)
50,000,000 50,000
J| 50,000
OtfsAZAE 2UEHE A (223H)
40,277,000 40,277
J| 40,277
OMASHH AlEAHE L2A(S2LH)
50,000,000 50,000
J| 50,000
MENSIE =S & AL 29,872 28,972 900
101 121 H| 28,772 28,372 400
04 JI2ZtHIZ22NEES 28,772 28,372 400
OSHEMEfoIA 22|02 28,772
-=20 72,000& * 4% x 90 25,920
-AI3IEE J|2a8e=2 25,920,000& * 11% 2,852
201 LBt Y| 1,100 600 500
01 AP 22| d| 600 600 0
OS& MEHGIE S K22 600,000& 600
02 332%H| 500 0 500
OS®™ MEjot™ A& &Y S Xl 500,000& 500
2= 22| 9,260 600 8,660
201 B9 3,500 600 2,900
01 AP 22| H| 3,500 0 3,500
O|Y & ZEMLAXN HAI2XN72E ZXE L
S48 MEAEX 3,500,000& 3,500
202 04| 5,760 0 5,760
01 2Ll 5,760 0 5,760
Ozx=AH&e 28 ol 5,760,000 5,760
HELAH2AIS 1,140,000 592,000 548,000
= 570,000
& 171,000
= 399,000
401 AlEHIZL £ 0HY| 1,140,000 592,000 548,000
= 570,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 171,000
s 399,000
01 A& HI 1,140,000 592,000 548,000
OHIEEMZ ALY 1,140,000, 000& 1,140,000
= 570,000
< 171,000
[ia 399,000
HY2IZH (EF D) 35,430 34,347 1,083
ol (22 D) 35,430 34,347 1,083
JlE2&l 35,430 34,347 1,083
201 et 26,730 28,347 NT1,617
01 At 22l 24,914 25,370 A 456
Oget=&H| 5,600,000 5,600
O=&Hl 7,770,000 7,770
O=SAD Xz 160,000& = 104 » 123 1,920
OZd=AI IXtx2  400,000& » 1CH » 128 4,800
O&=J Xz 52,000& = 1CH = 12& 624
OHEEHH 223 2| 4,200
-ptIely 200,000& = 7CH = 33 4,200
02 2324l 1,816 2,977 21,161
OdHFEH KA ==Hl 1,552
-CHIIsS AR 121 1,300,000& * 20CH * 5% 1,300
-Zglg 4,000,000& = 300 » 2% 240
—-FAX 600,000& = 100 = 2% 12
OANREY RUTE ME=
22,0003 = 104 ~ 12& 264
202 044l 2,400 2,400 0
01 = LH o4 1l 2,400 2,400 0
Oostgdlt R=A Kl 2,400,000 2,400
203 ¥R =&l 3,600 3,600 0
04 FANSEHE=LH 3,600 3,600 0
ORN2EYR=AHI 300,000& = 12& 3,600
405 XHoHF S HI 2,700 0 2,700
01 AL EZFH S 2,700 0 2,700
OMRA(E2 38) 3y 7Y
250,000& = 6H 1,500
OMSA(E2 35) A X 7
200,000& = 6H 1,200




